How does paper use translate to wood & tree use? (source www.papercalculator.org)

12 cases (1/mth) virgin 8.5x11 ... requires approx. 1 ton of wood...which requires approx 8 trees

12 cases 30% recycled 8.5x11...requires approx. 5/8 ton of wood
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Source: www.papercalculator.org. Wood use measures the amount of wood required to produce a given amount of paper. The number of typical trees assumes a mix of hardwoods and softwoods 6-8" in diameter and 40' tall. Calculated collaboratively by Conservatree and Environmental Defense based on data from Tom Soder,
Pulp & Paper Technology Program, University of Maine, as reported in Recycled Papers: The Essential Guide, by Claudia G. Thompson, The MIT Press, 1992. 1 ton of wood is the equivalent of of about 8 trees
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